3obLOBOZMgm  F9IFoM0EGH0s ) I3 89090  dodmbobvgdgdo.  dgodmfdgo
3obbgdo MATLAB Lsd995¢0gdom. gooblighgom, md 3sbwybols gbodmdgdws LoFo®mms
(33%50900Lsm30L  360dzbgEmdsms FoboFqds o 999y A9TIMUBobmgdol d9gg3s6s
3530506 0®A6dsMs Fobx s05T0:

a=55b=15k=-3;

.a<10.0

.a+h>=6.5

k~=0

.b-k>a

.~(@==3*b)

—k<=k+6

.a<10&a>5

.abs(k)>3|k<b-a

ONOoOUTAWNE

39bLsBOZMGN Y390 2odmbobengdols 3609369 mds. 8959mfidgom 3slmbgdo
MATLAB b58995¢09000. 053999350 ds&®03s B —U 543L 3603369cnmds:
B=[870;003;104]

1. any (B)

2. find (B)

3. all (any (B))

4. any (all (B))

5. finite (B(:,3))

6. any (B(1:2,1:3))

5090900 MATLAB 3635699900l 336030, ®md 996wl goblsbwgmmwo
Log3gbyG900,

53999350 (330250090 153550 LOWOYJO0S.

1. 09 M™ 39305, 300069 50, dsdg Aol 1.

2. HM35 33506M5GHo 139130 (3390sb poly=[0.0003,0.0004,0.001] 653009305 300069
0.001, ©s¥939 dolo 36033690 ™ds

3. 09 bbgomds volt_1=[ 829 4 6] cos volt_2=[8 6 3 9 2] ImGol I9EH0s, 3069 2.0,
59939 dom0o 36003690 mdgdo.

4. v den=0:0.001:0.005 9603369crmds 65309005 300069 0.003, dosboFgo result-Ls 0-ols
A0 8609369wmds, v 565, J0sboFgo result 36033690 mds num/den num=2.

5. v x=0.01:0.01:1-0b Mas®»0MT0 BoEMIMMHO Frydom 390, 96 GHmeros 10-ob,
dosboFgo time —b 0-ob GHemoe 360d369wMds s JoBIM©gm count 360369 ™dY,
count=0 bsHgoLo 8603zbgwmdsa.

6. oo dist=[20, 100, 45, 65, 9] bogargdos 50, s time=[0 1 2 3 4] dgEos 10, yobostrgo time
360083690 Mds 2-00, 0379 565, 3BoM©gm time 5-0m



7. ) oL 39305 96 BHMos 100, oBsM©gom 3Hodg 10-0m, 099 OLE) BMMsgLdME0s
50 o 100 8cmM0ob, 45BsM©gom time 1-om. bbgs bydmbggzsdo gobsdgor time 0.5-00



